487 S 487

T % Uz Ustab Ureg lmin—:—max
v \" \" mA
GR 28-40 DGL - 125 98107 | 10 = 60
GR 100/M DGL 1 140 100 5 = 60
M 82241 Mul 3 133 103113 1,5+4 5 + 30
NE 5 Maz 2 210 110 | 20 max
QS 1204 EEV 3 133 108 : 3 5 + 25
REG 110 eur 4 125 110 ‘ 10 + 30
OB 2 int 3 130 105111 1 +3 5 = 30
ocC 3 int 4} 130 105112« 3 =5 5 =~ 40
125 90 3 =6 5 = 30
o8 3 nt 4} 125 90 6 -8 5 = 40
90 C 1 eur 3 125 86+~ 94 14 1 = 40
90 C 2 Mul 5 125 95 1 5+ 25
874 amer 6 125 90 3 7 10 = 50
4317 Phl 7] |
4377 Phi 10 140 100115 20 max
4496 Phl 8 f 1
4354 Phl 9 115 85--100 ‘ 20 - 40
4357 Phi 7 ‘
376 ohi 10} 115 85100 | 10 = 40
4687 eur 8 1
4687-A Mul 7 130 90110 3 10 = 40
4687-K Phl 4 :
56441) int 12 130 82108 i 3 =5 5 = 25
5787 Ray 1 145 95103 5 5+ 25
5787-WA)) Ray 11 141 95103 l 3 5+ 25
1) vide *4
Equivalents

AG 5210 AEG = OB 2 STV 108/30 eur = OB 2

CK 5787 Ray = 5787 VR 90 int = OB 3

CK 5787-WB)Y) Ray = 5787-WA VR 90-30 int = OB 3

CK 6074Y) Ray = OB 2 VR 90 ST eur = OB 3

KD 24 Fer = OC3 VR 105 int = OC 3

M 8132) Mul = OB 2 VR 105-30 int = OC3

M 82051) Mul = 90 C1 VR 105 MT eur = OB 2

M 8207)) Mul = 90 C 1 VR 105 ST eur = OC2

Qs 1206 EEV = OC 3 OB 2-WA)) int = OB2

QS 1208 EEV = OB 2 OB 3/VR 90 amer = OB 3

Qs 1211Y) EEV = OB 2 OC 3/VR 105 amer = OC 3

cra2m CCCP = OB 2 105 C 5-30 CCCP = OC 3

crsc CCCP = OC 3 108 C 1 eur = OB2

SN 948 C Mul = 90 C2 1265 amer = OB 3

ST 105/30 Tes = OB2 3918 amer = 874

StR 90/40 RFT =90C1 6074") amer = OB 2

StR 108/40 RFT = OB 2 66271) amer = OB 2
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